1. BBF 500m

geomHEth AR — K&

ER23E2811H
FHMEHLBEERER T — 22—

lEGI K B (ERA) i & BR 5 &
L (A - == - S 7 S (&) 0:43.13 6
2 B EE®H® @B (FEh B 0:47.11 5
3. —lBF25R LT 500m
gt K 4 B i & BR 5 &
T FKEAN R 0:41.12 6
2 &£ 18 F©E TR 0:41.49 5
3 X R EF X HWEA 0:41.73 4
4 FE X *% 0:42.28 3
5 /B8 Kt WEA 0:43.12 2
6 KB EF A FH 0:45.86 1
7 B E THEH 0:46.75
4. — B F26~29% 500m
IEhz K 4 B ERE > S & & &
1T 7 E = il & 0:42.69 6
2 & Bk sh K FH 0:44.50 5
3 & WM XK ‘TR 0:46.40 4
4 H & X [ 1:02.45 3
5. —#% B F30 ~39 500m
IEhz K 4 B ERE > S & - & &
1T | X xE — I 0:43.05 6
2 R E — #WE 0:44.49 5
3 W EFEF B TS 0:47.37 4
4 £ B =E &R TEEH 0:47.96 3
5 ELKREIZ EIR 0:48.56 2
6 /0 A EA 0:49.65 1
7 FLEH EBFxXR 1:06.20



6. —#% 5B F40Rk ~49%% 500m

B K 4 B ERE - S & &
1T W B M WA 0:44.89 6
2 mMAER FF 0:45.10 5
3 A AE FH 0:45.32 4
4 MR il &% 0:45.46 3
5 #HeE HE EA 0:52.45 2
6 B O K sh Tl 1:12.61 1

7. —#% 5B F50k% ~59k 500m

B K 4 R EGIE > S - iE &
1T B A @EE FH 0:51.07 6
2 HFEFER ExXR 0:51.11 5
3 B EMX FH 0:51.17 4

8. —i& B F60%% ~698% 500m

-3 VAR = B ERE - S & &
T 8 F MR TERE 0:55.34 6

2 EHA = 5 1:22.84 5

3 F K E £ ZEFH 1:38.46 4

9. —fiEBF70mLLE 500m

B K 4 B ERE - S & &
1T BHE M 5 I 1:01.25 6
2 H Il B X FH 1:08.88 5
3 W EFE R X Tl 1:20.16 4
4 @I B XK F ExXR 1:31.27 3

10. —#&%&F 500m

B K 4 B ERE - S & &
1T EBRAE X HES 0:45.62 6
2 WA E I ‘BxXR 1:22.34 5



11. FZEHF 500m

IEhz K 4 mE (KA ERE - S & &
1T % H# EAREB BFXR (ExXR) 0:43.17 6
2 XREFE EBExXR EXR) 0:43.40 5
3 TAREFE FH (Ri%) 0:43.52 4
4 0O ER=E FFH (Rig) 0:43.57 3
5 Mg XK EBXR (BxXR) 0:43.79 2
6 B 5 B  T#EE (T 0:44.13 1
7 M E O EXR (BELXR) 0:47.62
8 & & 3 #% (FEHERER) 0:58.65
12. FEKF 500m
IEhz K 4 mE (KA ERE - S & &
T Mt tE R EFH (Ri&) 0:45.02 6
2 & £ % #% (FEERER) 0:45.22 5
3 ZMHEH =BrXtR (BxR) 0:46.17 4
4 H # Kk W FFH (Ri&) 0:46.33 3
5 K B ¥ & @ (FEATE) 0:47.03 2
6 /MM ExfZ EXR (BXR) 0:47.25 1



13. IMNFE6EBF 500m

IEhz K 4 mE (KA 2E ERE - S & &
1T R B &E #H FH (=) 6 0:45.58 6
2 T HREFE FH (£iR) 6 0:45.69 5
3 & M FE W EXR (KE 6 0:46.15 4
4 I W= TERE  (T#REAL) 6 0:46.56 3
5 /R F 3} #WE (2H) 6 0:46.94 2
6 I K EAE FH (kBR) 6 0:47.21 1
7 86 F K o HEA JIIE) 6 0:47.22
8 & M E K EBXR KM 6 0:48.46
9 MM E FE BXR K 6 0:48.61
10 & F B : Hi ] (Z2H) 6 0:52.08
10 W A R WA (2H) 6 0:52.08
12 7/ % BEEB  T#WEH (THEHER 6 0:54.62

14. INEGFELXF 500m

IEhz K 4 mE (KA 2E ERE - S & &
T It EE FH (£iR) 6 0:48.23 6
2 M & B E ZEH (GkBA) 6 0:48.37 5
3 MMt B EXR (R 6 0:48.39 4
4 ® B =R imeh (2H) 6 0:48.53 3
5 /) E FERF EA (+888) 6 0:48.59 2
6 R B H X Ma (#HEH) 6 0:49.73 1
T o m AR E O EFH (k) 6 0:49.84
8 A R B & #EA (L) 6 0:55.25
9 NMNREBEF W (2M) 6 0:55.73
10 5 # 8 i) &% G 6 0:56.10
"M Lt & 16 #E THEEH (TR 6 0:56.32
12 8 Ik v&KY  T#EEF (T#REAIL) 6 0:59.88



15. INESEBF 500m

B K 4 mE (KA 2E ERE - S
1T A E (FRM) 5 0:51.67 6
2 BB TF 2 #WE (k) 5 0:52.02 5
3 =" B F% (RE) 5 0:52.20 4
4 ZHER B FF (27F) 5 0:52.26 3
5 @A E & K (&) 5 0:53.63 2
6 B O £ &i (2H) 5 0:55.89 1
T BERE R R (&) 5 0:56.03
8 = H#H Al 7@ ExXxR ELXR) 5 0:56.28
9 ZHR & FH (2F) 5 0:56.49
10 X I B2 A HE& (Rtth) 5 1:13.21

16. NESELXF 500m

B K 4 mE (KA 2E ERE - S
1 BE X ER ZFH (£iR) 5 0:48.79 6
2 B HEEKRK WE (GtAma) 5 0:48.96 5
3 MM BER O FH (£iR) 5 0:49.30 4
4 B EEFER FFH (2F) 5 0:51.67 3
5 /WX E  HWE (L) 5 0:51.91 2
6 H K ERE EXR (K 5 0:52.15 1
7T = H KB #EE (k) 5 0:52.36
8 K ZE ®B &£ TlH (TF#HA) 5 1:03.93
9 T H E H T&EHH (TEHm 5 1:04.06
10 HHHFBEF EBEXRE (K 5 1:04.67



17. INEAFEBF 500m

IEhz K 4 mE (KA 2E ERE - S & &
T HZ o ELC R () 4 0:48.25 6 REH
2 ot m B FH (£R) 4 0:50.30 5
3 /W K #E (L) 4 0:51.80 4
4 W EEREE FFHK (27F) 4 0:52.16 3
5 R XA R (R 4 0:56.73 2
6 W A& L [Ea (Rith) 4 0:56.79 1
T B RE X FH (GKBA) 4 0:56.87
8 W HEN EXR (K 4 0:56.99
9 B T fE 1B MHEA (+888) 4 0:57.68
10 3 Bk B F  #REA (FRM) 4 0:57.90
" # MK 5B FXR (&KH 4 1:06.31
12 X iR # EXR (K4 4 1:07.67
13 5 HF E FAES (NN 4 1:12.70
14 B R MA\m R (&) 4 1:13.52

18. INFE4AFELZF 500m

IEhz K 4 mE (KA 2E ERE - S & &
1T Ak EE EIXR EIXR) 4 0:56.28 6
2 1 K xR FH (GkBA) 4 0:56.96 5
3 M K &2 i (2H) 4 0:57.23 4
4 K HBEFE BB (#4EH) 4 0:59.06 3
5 & BER KR (&) 4 0:59.11 2
6 W A IO FH () 4 0:59.65 1
7 F A F X EA (Rtt) 4 0:59.86
8 BILEE ExXR (K 4 1:01.00
9 fE M E W [Ea (&) 4 1:01.78
10 B & EXR (KR4 4 1:03.36
"N K FEE R (&) 4 1:05.83
12 % 2 £ % R (=) 4 1:08.11
13 £ & XS THWEH (THMEHIL 4 1:08.30
14 Hl & =3 #WEh (Ffm) 4 1:11.56



19. INEIFEBF 500m

IEhz K 4 mE (KA FE ERE - S & &
T M EE EBXR R 3 0:55.39 6
2 WA 7T K FH (At 3 0:55.48 5
3 E A # *% (2F) 3 0:56.85 4
4 H KB BE FFHK (kBR) 3 0:56.90 3
5 /R E K #WE (2H) 3 0:59.68 2
6 % R AW X e (2M) 3 0:59.90 1
7 0l E XK B BXR &8 3 1:01.80
8 mH F M K #E (2H) 3 1:04.83
9 /0O E £ @EA (NN 3 1:07.98
10 & K& 8 Tl (FRSHRD 3 1:14.72
n 2R & ES (Rith) 3 1:31.61
12 Mgk & F ES Ui 3 1:33.56

20. INEIFEXF 500m

IEhz K 4 mE (KA FE ERE - S & &
T mAA"AND FH (At 3 0:55.65 6
2 Mg E B W (k) 3 0:59.77 5
3 TRt E FH G ER) 3 1:00.28 4
4 MM E X FFH (kBR) 3 1:02.96 3
5 ® F R &EF #WEh (Ffim) 3 1:06.03 2
6 5 & H LV & (&) 3 1:06.67 1
7T B R E B #WE (FRM) 3 1:07.03
8 W B X &£ THEYH (FTHEHH 3 1:07.58
9 H 0O & I (=) 3 1:08.76
10 /ith £ 88 FEXR (KED 3 1:11.73
" 4 B & K [Es CIINFEID) 3 1:12.05
12 & M ¥ & MAS (&) 3 1:13.42
13 K B £ & THWEH (FRSHRD 3 1:18.36
14 K # 16 A FES G 3 1:23.23



21. INE2FEBF 500m

IEhz K 4 mE (KA 2E ERE - S & &
1T = # 8 K I (k) 2 1:00.22 6
2 H F W *% (EN) 2 1:01.99 5
3 mERB A ORE (&) 2 1:02.05 4
4 KX — B FF (£iR) 2 1:02.48 3
5 &M #H X il & JIIE) 2 1:06.29 2
6 A K EFEE FH (END 2 1:07.66 1
7 % i oE il & JIIE) 2 1:08.99
8 RBREHBE MAA (#4EA) 2 1:09.55
9 F M XIZ & (=) 2 1:10.31
10 #E @ F K EBIXR KM 2 1:11.17
" ok FEE AN K (2H) 2 1:13.62
12 | A %K R (R 2 1:14.99
13 & F EXBA  T#WEH (THWEH= 2 1:43.23

22. INE2FEZF 500m

-3 VAR = R (FERA) k3 i & BR 5 &
1T &% B F Hi;] (2H) 2 1:04.88 6
2 ¥ 85 K *% (kBR) 2 1:06.54 5
3 & Wi fi & FFH (EJD 2 1:06.59 4
4 R B x FF (kBR) 2 1:07.46 3
5 B HEEFE W (2M) 2 1:08.28 2
6 TR TR R (&) 2 1:09.42 1
7 MO OHMEE EBEXR OGR) 2 1:13.21
8 X I8 E Ma (Rih) 2 1:18.35
9 H WL EHK EXR ELXR) 2 1:22.54
10 FEH KM F () 2 1:24.67
H B E KX E EXR (EXR) 2 1:28.41
12 F H & TiREs  (FiREAm) 2 1:36.10
13 /0O xAxE T#WE (TH#EFR) 2 1:47.59



23. IMNE1EFHF 300m
Bz K % mE (FRA) P I

1T @ HE = & (efim) 1 0:40.79 6
2 B H I K EEH (k) 1 0:46.73 5
3 i KK K FH (7kBR) 1 0:46.75 4
4 £ WA #% GHER) 1 0:48.81 3
5 mBEAE T FH (7kBR) 1 0:53.37 2
6 &= B F & TS (T#EAdL) 1 1:03.89 1
7o E B WE (mE) 1 1:04.50
8 & I th &  T#|EH (T#EAdL) 1 1:04.51
9 % & EF HEA CZIINFEID) 1 1:06.87

24. INE1FELF 300m

-3 VAR = R (FERA) k3 ERE - S
1T & % B X W& (FfM) 1 0:42.35 6
2 HFHEH K (&) 1 0:42.69 5
3 K B E2EH W GiAm) 1 0:43.82 4
4 M E OERE EBEXR (R 1 0:45.13 3
5 & H R £ HEA CINFEID 1 0:45.63 2
6 H #H L xEx W GtAma) 1 0:46.25 1
7 F H B U FH GHER) 1 0:46.44
8 B B MAT R () 1 0:46.55
9 EHR EH# IR (R) 1 0:51.17
10 &5 8 =k FH (B2¥F) 1 0:55.48
"M # @ B X TEEH (FHRHL) 1 0:57.66
12 HEO E B FH (GKBA) 1 0:57.95
13 F W B ¥ THEH (T#H#EHIL) 1 0:59.50
14 ® # BHNHE ES (NN 1 0:59.90
15 /B ZE R Fx [Ma (#4EA) 1 1:03.45
16 8 M & EBXR (R 1 1:03.85
17 X R ™MWA  EBEXTR (K 1 1:10.82



25. BB BF 3000m

B K 4% & (ER4) T 8% Ba
1 B EEtHh FEA i3 6:00.55 6

26. . BF 3000m

-3 VAR = R (FERA) ERE - S
1T M0 &R=x FF (RI&) 4:40.56 6
2 XREFEFE BXR ExXR) 4:42.78 5
3 # HFH AKX ExXR (EXR) 4:49.36 4
4 EKRXKEF ZFFH (Rig) 4:51.21 3
5 Mg K EBEXR (BXR) 4:56.38 2
6 ® 5 B @ T (TN 4:59.01 1

27. INEZF 1000m
IBf K % B (R 4) P i B/

1T FEENF ES (+487) 6 1:41.02 6
2 F K &Y FFH (=) 6 1:41.39 5
3 Mt EHE B EXR GR) 6 1:41.51 4
4 B kE B FF% (£iR) 5 1:42.30 3
5 B HEEBKRK WE GiAm) 5 1:42.56 2
6 & ®B wmx @EAA (#4EH) 6 1:42.66 1
7 %K =R e (2H) 6 1:44.57
8 ™M & B &E FHK (K BA) 6 1:44.74
9 H K EEE EXR (KD 5 1:44.96
10 A /R B &  #Eh (k) 6 1:50.52
" = kR &Y  THEE  (T#EREAI) 6 1:58.32
12 Ak FEFHE EBXR (ELXR 4 2:04.92
3 B E R (R) 4 2:05.26
14 Lt & {6 # T (FH#HEAL) 6 2:06.44
B REEKBHE MY (#4EA) 4 2:08.40
16 K Z B2 &  T#E (F#HEAL 5 2:20.44
17 % 82 £ % [F (&) 4 2:30.02
18 B /& THZE R (&) 4 2:38.95



28. —fiEBF30m LLE 1000m

B K 4 B ERE - S & &
1T ZFH WA 1:38.41 6
2 Wu BB WE 1:38.69 5
3 MR E il & 1:41.18 4
4 FEHEFEFR ExXR 1:46.19 3
5 &£ B =®= K&  THWH 1:49.72 2
6 & H £ B8 FH 1:51.17 1

29. /NEBF 1500m

6z K 4 R (ERA) RE ERE - S & &
1T &2 R FEH ELXR (K 6 2:33.71 6
2 &= R % K ZFF (7K EA) 6 2:33.97 5
3 /W @ = THE  (T#lERD 6 2:34.03 4
4 T H R FEF FF (£iR) 6 2:34.07 3
5 H o ELC R (R 4 2:37.33 2
6 /Nt E FE BXR (K 6 2:37.40 1
7 N R R} OHE (2H) 6 2:37.52
8 & M E K EBXR KM 6 2:39.04
9 4 F ¥ m HEA JIIE) 6 2:39.24
10 £ F R & #: (RN 6 2:48.67
" W B MR (2H) 6 2:48.81
12 7/ % BEEBR  T#WEH (THEHER 6 2:48.90
13 REBE#H FH (=) 6 2:56.29
14 mAaREHE E (&) 5 3:03.71
15 B F fE ## HES (+888) 4 3:11.34
16 R & &K F (&) 5 3:12.55
17 @A BER [ (Rith) 4 3:15.25



30. %L F 1500m

IEhz K 4 mE (KA ERE - S & &
T Mt tE R EFH (Ri&) 2:29.04 6
2 H $ KM FH (RI&) 2:29.09 5
3 X’ ¥ % F% (FEHEE) 2:29.97 4
4 Z WM EFEH E=ELXtR (BXR) 2:30.30 3
5 /I M Xkt EXR (BEXR) 2:30.35 2
31. —fi8BF29LLT 1500m
-3 VAR = i i & BR 5 &
1 &£ 8 = E BIXR 2:21.82 6
2 /0O XKt WEA 2:25.17 5
3 2 REF xR e 2:25.56 4
4 H & XK B FFH 2:28.46 3
5 FKEN K 2:32.94 2
6 & WM X TR 2:48.00 1
7 KRB E AN FH 2:50.69
8 /N B E T#HlE 2:51.54



33. INEZF 2000m')L—

1 1 1 1
& & & &

0 | v | < — | © ~ |l ~sS | S | — | s D ™ | N | © |
w2 e|® > | = mle (=222 w | © eS|
B |28 S | m|S | |2 TS M| B|2 |5 S|

™D | O | ™ < | < D | M || »m | < N N | N | ™ | &«
w [ R e e o |1 | e w (M aa | R[] IR
S ST T [ e W |ER o R R e T
g < e | [ o 2 e 2 (B[ g |12

| ok 1 1 e o A e s a2 | L e

CCEERERESERE CCEERERERSE Sl CEEEEREERE
[t > 40 KK R [ I S e aq | U s T N s P14
[RS8 | W T T N E S
w |22 [3pern(R|a(eeo sy |EE [t 2| o e e w |K[E gy | [ s e

£ 3 o o 10 N OO 5 o e < I N W I 3 1 5

ceclelcleceltlelee] 3| lEeclekEleekRlel T el 3| [PelEeeece

o o o
[=] [=] [=]
lel|ele = S|¥ e |Ele|g|le S|¥|E S| ¥le|le|2|E
Ul | | e = w7 E A E || | | H || E R H B
| R B A [ || R B B |+ | 8 AN
i i E
o ME & la A
|. ® | ® | ® |




THH#AIRESRR

No. M & | T™®Han | &R | F OF IR EXR

1 |&&BEF 500m 11

2 |[EEF 500m

3 [—HEBF25mLLT 500m 6 4 5

4 |—HEBF26iF%~295% 500m 6 5 4

5 |—f&BF30m~39% 500m 1 7 11 2

6 |—fEBF40i%~495% 500m 5 1 6 9

7 | —#&5BF505%~59m% 500m 10 5

8 |[—HBF60i%k~69m% 500m 6 9

9 [—HBFI0mLLE 500m 4 6 3

10 [—#&%&F 500m 6 5

11 |HZ5HF 500m 1 1 13

12 [FZ%F 500m 2 14 5

13 |"hME6HFHBF 500m 3 2 12 4

14 [/hZ 6 FLF 500m 3 3 11 4

15 |"MES5HEHBF 500m 12 7 2

16 [/ 5 FLF 500m 7 13 1

17 "M 4FEBF 500m 1 4 8

18 [/hZ 4 FLF 500m 3 4 6

19 /M3 EFEHBF 500m 3 12

20 |/NE 3 FLF 500m 1 13 1

21 [/MFE2FFF 500m 2 6 9 4

22 /N2 FZF 500m 8 12 1

23 |/MVE1EBF 300m 1 11 9

24 /N1 FELZF 300m 11 5 3

25 |&EREF 3000m

26 |HFEBF 3000m 1 9 11

27 |/hEZEF 1000m 7 2 8 4

28 |—HEEBEF3 omLlE 1000m 4 2 11 1 3

29 [/MFEBF 1500m 4 8 2 7

30 |HZE%LF 1500m 15 5

3 |[—HEEF29m LT 1500m 9 3 2 7

32 |&#%%&F 1500m

33 [/hFEZF 2000m!) L— 4 2 5 6 1 3

34 [/NEHBF 2000m!) L— 2 4 6 3 5

35 [HhZEZF 2000m!) L—

36 [FZEHF 2000m!) L— 6

37 |&&EBF 2000m!) L—

38 |[—REEF 2000m') L— 3 6 5 4
=l &t 63 35 146 236 40 121
& fi 4 6 2 1 5 3




	シングル競技会報告書 (1)
	シングル競技会報告書 (リレー)
	シングル競技会報告書 (得点表)

